

Commercial INVOICE

Exporter: BeBella, Inc.dba BeautyCreations 12521 Los Nietos Rd. Santa Fe Springs CA 90670 (562) 842 3760		Invoice No.: 39416	Invoice Date: 16-Jan-2026
Consignee: WSM GLOBAL FZE S101230005 Jebel Ali Freezone Dubai		Ref No. Notify Party: 39416-39417 WSM GLOBAL FZE S101230005	Country of Origin of Goods: China, Korea
		Term of Delivery and Payment: FOB - 10 days from receiving the documents	Country of Destination: Dubai, UAE

Sr	Barcode	Description	Country of Origin	Batch code	HS Code	Total Quantity	UNIT PRICE (USD)	Total (USD)
1	603149295735	Beauty Creations Gel Eye Liner	CHINA	BC1225	3304200000	576	\$ 0.69	\$ 396.00
2	603149297357	Beauty Creations Poreless Face Primer	CHINA	BC1025	3304990000	288	\$ 2.29	\$ 660.00
3	603149299924	Beauty Creations Eyebrow Definer Pencil - Medium Brown	CHINA	BC0724	3304200000	144	\$ 1.15	\$ 165.00
4	603149299931	Beauty Creations Eyebrow Definer Pencil - Dark Brown	CHINA	BC0724	3304200000	432	\$ 1.15	\$ 495.00
5	603149304512	Beauty Creations Floral Bloom Blush	CHINA	BC0725	3304990000	144	\$ 3.44	\$ 495.00
6	603149304581	Beauty Creations Banana Setting Powder	CHINA	BC1225	3304910000	144	\$ 2.06	\$ 297.00
7	603149305267	Beauty Creations Flawless Stay Foundation - 6.0	CHINA	BC0825	3304990000	288	\$ 2.75	\$ 792.00
8	603149305281	Beauty Creations Flawless Stay Foundation - 8.0	CHINA	230906	3304990000	144	\$ 2.75	\$ 396.00
9	603149305298	Beauty Creations Flawless Stay Foundation - 9.0	CHINA	240406	3304990000	288	\$ 2.75	\$ 792.00
10	603149305304	Beauty Creations Flawless Stay Foundation - 10	CHINA	250406	3304990000	144	\$ 2.75	\$ 396.00
11	659962587588	Beauty Creations Balm N' Cute Lip Balm - Raspberry	CHINA	BC0425	3304100000	288	\$ 1.60	\$ 462.00
12	659962587724	Beauty Creations Balm N' Cute Lip Balm - Cherry	CHINA	BC1025	3304100000	432	\$ 1.60	\$ 693.00
13	659962633278	Beauty Creations Flawless Stay Grip Primer	CHINA	BC0424	3304990000	144	\$ 2.06	\$ 297.00
14	659962681187	Beauty Creations Wooden Lip Pencil - Truffle Maker	CHINA	BC1025	3304100000	1008	\$ 0.69	\$ 693.00
15	659962683822	Beauty Creations Sculpt Up Liquid Contour - Latte Macchiato	CHINA	BC0624	3304990000	432	\$ 2.29	\$ 990.00
16	659962685697	Beauty Creations Sculpt Up Liquid Contour - Cinnamon Swirl	CHINA	BC0624	3304990000	144	\$ 2.29	\$ 330.00
17	659962811836	Beauty Creations Plump And Plout Lip Liner - So Flirty	CHINA	BC0324	3304100000	432	\$ 1.38	\$ 594.00
18	659962812475	Beauty Creations Plump And Plout Lip Liner - Mind Trapped	CHINA	BC0324	3304100000	144	\$ 1.38	\$ 198.00
19	659962813755	Beauty Creations Plump And Plout Lip Liner - Attracted To U	CHINA	BC0324	3304100000	288	\$ 1.38	\$ 396.00
20	659962860605	Beauty Creations Flawless Stay Glow Skin Filter - 03O	CHINA	BC0724	3304990000	240	\$ 2.75	\$ 660.00
21	659962862128	Beauty Creations Flawless Stay Glow Skin Filter - 05N	CHINA	BC0724	3304990000	288	\$ 2.75	\$ 792.00
22	659962864634	Beauty Creations Flawless Stay Glow Skin Filter - 01Nb	CHINA	BC0724	3304990000	240	\$ 2.75	\$ 660.00
23	659962908673	Beauty Creations Cheeked Up Liquid Blush - Pinky Promise	CHINA	BC0624	3304990000	144	\$ 2.29	\$ 330.00
24	659962909922	Beauty Creations Cheeked Up Liquid Blush - Coral Cap	CHINA	BC0624	3304990000	72	\$ 2.29	\$ 165.00
25	659962910201	Beauty Creations Cheeked Up Liquid Blush - Rosey Reset	CHINA	BC0624	3304990000	432	\$ 2.29	\$ 990.00
26	659962985360	Beauty Creations Glow Up Liquid Highlight - Bubbling Rose	CHINA	BC0624	3304990000	144	\$ 2.29	\$ 330.00
27	659962986251	Beauty Creations Glow Up Liquid Highlight - Honey Gold	CHINA	BC0624	3304990000	288	\$ 2.29	\$ 660.00
28	659962990937	Beauty Creations Final Finish Baked Highlighter - Flashy	CHINA	BC0624	3304910000	144	\$ 1.60	\$ 231.00
29	659962990999	Beauty Creations Final Finish Baked Highlighter - Party Effect	CHINA	BC0624	3304910000	3600	\$ 1.60	\$ 5,775.00
30	659962991392	Beauty Creations Final Finish Baked Highlighter - My Era	CHINA	BC0624	3304910000	288	\$ 1.60	\$ 462.00
31	659962993617	Beauty Creations Final Finish Baked Highlighter - Gold Fashioned	CHINA	BC0624	3304910000	288	\$ 1.60	\$ 462.00
32	667619533871	Beauty Creations Nude X Matte Lipstick - Never Too Much	CHINA	BC0724	3304100000	144	\$ 1.38	\$ 198.00
33	667619533932	Beauty Creations Tease Me Lipstick - Waiting For You	CHINA	BC0725	3304100000	288	\$ 1.38	\$ 396.00
34	667619533956	Beauty Creations Tease Me Lipstick - Hint Hint	CHINA	BC0725	3304100000	288	\$ 1.38	\$ 396.00
35	667619533970	Beauty Creations Tease Me Lipstick - Turn Me On	CHINA	BC0725	3304100000	288	\$ 1.38	\$ 396.00

Commercial INVOICE

Exporter: BeBella, Inc.dba BeautyCreations 12521 Los Nietos Rd. Santa Fe Springs CA 90670 (562) 842 3760 Consignee: WSM GLOBAL FZE S101230005 Jebel Ali Freezone Dubai		Invoice No.: 39416	Invoice Date: 16-Jan-2026
		Ref No. Notify Party:	39416-39417 WSM GLOBAL FZE S101230005
		Country of Origin of Goods: China, Korea	Country of Destination: Dubai, UAE
Term of Delivery and Payment: FOB - 10 days from receiving the documents			

Sr	Barcode	Description	Country of Origin	Batch code	HS Code	Total Quantity	UNIT PRICE (USD)	Total (USD)
36	667619533994	Beauty Creations Tease Me Lipstick - Late Date	CHINA	BC0725	3304100000	216	\$ 1.38	\$ 297.00
37	667619534014	Beauty Creations Tease Me Lipstick - Fool In Love	CHINA	BC0725	3304100000	288	\$ 1.38	\$ 396.00
38	667619534021	Beauty Creations Tease Me Lipstick - So Luscious	CHINA	BC0725	3304100000	144	\$ 1.38	\$ 198.00
39	667619534038	Beauty Creations Tease Me Lipstick - Spice It Up	CHINA	BC0725	3304100000	432	\$ 1.38	\$ 594.00
40	667619534045	Beauty Creations Tease Me Lipstick - So Deep	CHINA	BC0725	3304100000	288	\$ 1.38	\$ 396.00
41	667619534816	Beauty Creations Skin Micellar Water - The Take Down	KOREA	N/A	3304990000	144	\$ 1.83	\$ 264.00
42	667619535431	Beauty Creations Snatch And Sculpt Dual -Ended Brush	CHINA	BC0925	3304990000	864	\$ 1.38	\$ 1,188.00
43	667619535486	Beauty Creations Flawless Stay Powder Foundation Fsp7.5	CHINA	BC24051	3304910000	144	\$ 2.29	\$ 330.00
44	667619536056	Beauty Creations Stay Blushing Cute Lip And Cheek Balm - Born To Make It	CHINA	BC2347	3304990000	72	\$ 1.60	\$ 115.50
45	667619536094	Beauty Creations Stay Blushing Cute Lip And Cheek Balm - As Usual	CHINA	BC0625	3304990000	216	\$ 1.60	\$ 346.50
46	667619536865	Beauty Creations Glitterally Perfect Glitter Liner - 5 Star	CHINA	BC0624	3304200000	432	\$ 1.15	\$ 495.00
47	667619536957	Beauty Creations Glitterally Perfect Glitter Liner - Hourglass	CHINA	BC0625	3304200000	360	\$ 1.15	\$ 412.50
48	667619538791	Beauty Creations Glow Up Liquid Highlight - White Gem	CHINA	BC0624	3304990000	432	\$ 2.29	\$ 990.00
49	667619541661	Beauty Creations All About You Ph Lip Oil Lovertini - Strawberry	CHINA	BC1025	3304100000	1008	\$ 1.15	\$ 1,155.00
50	667619541678	Beauty Creations All About You Ph Lip Oil Pop Bottles - Guava	CHINA	BC0825	3304100000	288	\$ 1.15	\$ 330.00
51	667619541784	Beauty Creations Riding Solo Single Shadow - Legend Babe	CHINA	8CPO	3304200000	216	\$ 1.15	\$ 247.50
52	667619541821	Beauty Creations Riding Solo Single Shadow - Outta	CHINA	8CN6	3304200000	432	\$ 1.15	\$ 495.00
53	667619543351	Beauty Creations Wooden Lip Penci - Pumpkin To Talk About	CHINA	BC0625	3304100000	432	\$ 0.69	\$ 297.00
54	667619543368	Beauty Creations Wooden Lip Pencil - Butta U Up	CHINA	BC1224	3304100000	288	\$ 0.69	\$ 198.00
55	667619543382	Beauty Creations Wooden Lip Pencil - Shake It Like Jelly	CHINA	BC1025	3304100000	288	\$ 0.69	\$ 198.00
56	667619543399	Beauty Creations Wooden Lip Pencil - Dulce A Caramelo	CHINA	BC0925	3304100000	144	\$ 0.69	\$ 99.00
57	667619543405	Beauty Creations Wooden Lip Pencil - Keep It Saucy	CHINA	BC1125	3304100000	720	\$ 0.69	\$ 495.00
58	667619543450	Beauty Creations Wooden Lip Pencil - Toffee Bites	CHINA	BC1125	3304100000	864	\$ 0.69	\$ 594.00
59	683609851145	Beauty Creations Flawless Stay Foundation - 2.5	CHINA	BC0825	3304990000	288	\$ 2.75	\$ 792.00
60	683609851190	Beauty Creations Flawless Stay Foundation - 7.5	CHINA	BC0625	3304990000	288	\$ 2.75	\$ 792.00
61	683609851206	Beauty Creations Flawless Stay Foundation - 8.5	CHINA	240106	3304990000	144	\$ 2.75	\$ 396.00
62	683609851213	Beauty Creations Flawless Stay Foundation - 9.5	CHINA	230806	3304990000	144	\$ 2.75	\$ 396.00
63	683609851220	Beauty Creations Flawless Stay Foundation - 10.5	CHINA	230506	3304990000	288	\$ 2.75	\$ 792.00
64	683609851961	Beauty Creations Ultra Dazzle Lipgloss - Pretty Girl	CHINA	BC2303	3304100000	288	\$ 1.38	\$ 396.00
65	683609851978	Beauty Creations Ultra Dazzle Lipgloss - Goal Digger	CHINA	BC2344	3304100000	288	\$ 1.38	\$ 396.00
66	683609852036	Beauty Creations Ultra Dazzle Lipgloss - Vanity	CHINA	BC2303	3304100000	144	\$ 1.38	\$ 198.00
67	683609852098	Beauty Creations Ultra Dazzle Lipgloss - Born To Shine	CHINA	BC2303	3304100000	288	\$ 1.38	\$ 396.00
68	683609852104	Beauty Creations Ultra Dazzle Lipgloss - Get It Girl	CHINA	BC2303	3304100000	144	\$ 1.38	\$ 198.00
69	683609852111	Beauty Creations Ultra Dazzle Lipgloss - Fairytale	CHINA	BC0001	3304100000	288	\$ 1.38	\$ 396.00
70	683609852135	Beauty Creations Ultra Dazzle Lipgloss - Doll Face	CHINA	BC0724	3304100000	432	\$ 1.38	\$ 594.00

Commercial INVOICE

Exporter: BeBella, Inc.dba BeautyCreations 12521 Los Nietos Rd. Santa Fe Springs CA 90670 (562) 842 3760		Invoice No.: 39416	Invoice Date: 16-Jan-2026
Consignee: WSM GLOBAL FZE S101230005 Jebel Ali Freezone Dubai		Ref No. Notify Party: 39416-39417 WSM GLOBAL FZE S101230005	Country of Origin of Goods: China, Korea
		Term of Delivery and Payment: FOB - 10 days from receiving the documents	Country of Destination: Dubai, UAE

Sr	Barcode	Description	Country of Origin	Batch code	HS Code	Total Quantity	UNIT PRICE (USD)	Total (USD)
71	683609852142	Beauty Creations Ultra Dazzle Lipgloss - Brown Suga	CHINA	BC0001	3304100000	288	\$ 1.38	\$ 396.00
72	683609852166	Beauty Creations Ultra Dazzle Lipgloss - Exclusive	CHINA	BC2345	3304100000	288	\$ 1.38	\$ 396.00
73	683609852197	Beauty Creations Ultra Dazzle Lipgloss - Bossy	CHINA	BC0724	3304100000	144	\$ 1.38	\$ 198.00
74	683609852333	Beauty Creations Flawless Stay Poreless Primer	CHINA	BC0624	3304990000	276	\$ 1.83	\$ 506.00
75	683609852371	Beauty Creations Eyebrow Definer Gel - Soft Brown	CHINA	BC2321	3304200000	288	\$ 1.38	\$ 396.00
76	683609852418	Beauty Creations Eyebrow Definer Gel - Ebony	CHINA	BC0824	3304200000	432	\$ 1.38	\$ 594.00
77	683609852425	Beauty Creations Flawless Stay Primer Stick	CHINA	BC2344	3304990000	432	\$ 1.83	\$ 792.00
78	683609852517	Beauty Creations Dare To Be Bright Gel Liner - Tip Toe	CHINA	BC21112	3304100000	144	\$ 0.92	\$ 132.00
79	683609852685	Beauty Creations Seal The Deal Matte Liquid Lipstick - Last Chance	CHINA	BC2345	3304100000	432	\$ 0.92	\$ 396.00
80	683609852739	Beauty Creations Seal The Deal Matte Liquid Lipstick - Now Or Never	CHINA	BC2302	3304100000	288	\$ 1.38	\$ 396.00
81	683609852760	Beauty Creations Seal The Deal Matte Liquid Lipstick - Snatched	CHINA	BC2302	3304100000	432	\$ 1.38	\$ 594.00
82	683609852814	Beauty Creations Seal The Deal Matte Liquid Lipstick - Rich Rich	CHINA	BC2302	3304100000	144	\$ 1.38	\$ 198.00
83	683609852821	Beauty Creations Seal The Deal Matte Liquid Lipstick - Attractive	CHINA	BC0625	3304100000	288	\$ 1.38	\$ 396.00
84	683609852845	Beauty Creations Seal The Deal Matte Liquid Lipstick - Dropping Hints	CHINA	BC2302	3304100000	144	\$ 1.38	\$ 198.00
85	683609853071	Beauty Creations Velvet Stay Lip Paint - Stardum 07	CHINA	BC0724	3304100000	288	\$ 1.38	\$ 396.00
86	683609853095	Beauty Creations Velvet Stay Lip Paint - Romance Me 09	CHINA	BC0724	3304100000	432	\$ 1.38	\$ 594.00
87	683609853118	Beauty Creations Velvet Stay Lip Paint - Foxy 11	CHINA	BC0724	3304100000	432	\$ 1.38	\$ 594.00
88	683609853125	Beauty Creations Velvet Stay Lip Paint - On The Edge 12	CHINA	BC0624	3304100000	144	\$ 1.38	\$ 198.00
89	683609853149	Beauty Creations Velvet Stay Lip Paint - Friend Zone14	CHINA	BC0424	3304100000	432	\$ 1.38	\$ 594.00
90	683609853194	Beauty Creations Velvet Stay Lip Paint - Nova 19	CHINA	BC0724	3304100000	144	\$ 1.38	\$ 198.00
91	683609853224	Beauty Creations Velvet Stay Lip Paint - Guilty Pleasure 22	CHINA	BC0724	3304100000	576	\$ 1.38	\$ 792.00
92	683609853231	Beauty Creations Velvet Stay Lip Paint - Juiced 23	CHINA	BC0724	3304100000	720	\$ 1.38	\$ 990.00
93	683609853491	Beauty Creations Lash Flex Volumizing Mascara	CHINA	BC1225	3304200000	552	\$ 1.83	\$ 1,012.00
94	683609853507	Beauty Creations Lash Flex Thickening Mascara	CHINA	BC1225	3304200000	552	\$ 1.83	\$ 1,012.00
95	683609853767	Beauty Creations Nude X Lipliner - Toxic	CHINA	BC0924	3304100000	144	\$ 1.15	\$ 165.00
96	683609853781	Beauty Creations Nude X Lipliner - Comfort Zone	CHINA	BC0924	3304100000	576	\$ 1.15	\$ 660.00
97	683609853842	Beauty Creations Nude X Lipliner - Can'T Handle	CHINA	BC1224	3304100000	432	\$ 1.15	\$ 495.00
98	683609855662	Beauty Creations Flawless Stay Powder Foundation - Fsp6	CHINA	BC0925	3304990000	288	\$ 2.29	\$ 660.00
99	683609855693	Beauty Creations Flawless Stay Powder Foundation - Fsp9	CHINA	BC0625	3304990000	288	\$ 2.29	\$ 660.00
100	683609855709	Beauty Creations Flawless Stay Powder Foundation - Fsp10	CHINA	BC24112	3304990000	144	\$ 2.29	\$ 330.00
101	683609856911	Beauty Creations Take Me Back Roller Gloss - Strawberry	CHINA	BC0525	3304100000	288	\$ 0.69	\$ 198.00
102	683609858250	Beauty Creations Overreacher On Point Liquid Liner	CHINA	BC0924	3304200000	552	\$ 0.92	\$ 506.00
103	683609858472	Beauty Creations Flawless Stay Concealer - C8	CHINA	BC0725	3304990000	144	\$ 1.60	\$ 231.00
104	683609858557	Beauty Creations Flawless Stay Concealer - C12	CHINA	BC0825	3304990000	2160	\$ 1.60	\$ 3,465.00
105	683609858571	Beauty Creations Flawless Stay Concealer - C13	CHINA	BC0925	3304990000	432	\$ 1.60	\$ 693.00

Commercial INVOICE

Exporter: BeBella, Inc.dba BeautyCreations 12521 Los Nietos Rd. Santa Fe Springs CA 90670 (562) 842 3760		Invoice No.: 39416	Invoice Date: 16-Jan-2026
Consignee: WSM GLOBAL FZE S101230005 Jebel Ali Freezone Dubai		Ref No. Notify Party: 39416-39417 WSM GLOBAL FZE S101230005	Country of Origin of Goods: China, Korea
		Term of Delivery and Payment: FOB - 10 days from receiving the documents	Country of Destination: Dubai, UAE

Sr	Barcode	Description	Country of Origin	Batch code	HS Code	Total Quantity	UNIT PRICE (USD)	Total (USD)
106	683609858632	Beauty Creations Flawless Stay Concealer - C16	CHINA	BC0925	3304990000	576	\$ 1.60	\$ 924.00
107	683609858656	Beauty Creations Flawless Stay Concealer - C17	CHINA	7G101	3304990000	576	\$ 1.60	\$ 924.00
108	683609858687	Beauty Creations Flawless Stay Concealer - C18	CHINA	7C150	3304990000	432	\$ 1.60	\$ 693.00
109	683609858694	Beauty Creations Flawless Stay Concealer - C19	CHINA	7HL5	3304990000	576	\$ 1.60	\$ 924.00
110	683609858717	Beauty Creations Flawless Stay Concealer - C20	CHINA	7M87	3304990000	288	\$ 1.60	\$ 462.00
111	683609858731	Beauty Creations Flawless Stay Concealer - C21	CHINA	7M87	3304990000	288	\$ 1.60	\$ 462.00
112	683609858847	Beauty Creations Neutral Eye Base Primer - Porcelain	CHINA	BC0424	3304990000	144	\$ 1.15	\$ 165.00
113	683609858854	Beauty Creations Neutral Eye Base Primer - Classic Vanilla	CHINA	BC0524	3304990000	576	\$ 1.15	\$ 660.00
114	683609858861	Beauty Creations Neutral Eye Base Primer - Nude Beige	CHINA	BC0524	3304990000	288	\$ 1.15	\$ 330.00
115	683609858878	Beauty Creations Neutral Eye Base Primer - Light Honey	CHINA	BC0824	3304990000	432	\$ 1.15	\$ 495.00
116	683609860192	Beauty Creations Take Me Back Roller Gloss - Cherry	CHINA	BC0625	3304100000	576	\$ 0.69	\$ 396.00
117	683609860215	Beauty Creations Take Me Back Roller Gloss - Watermelon	CHINA	BC0525	3304100000	432	\$ 0.69	\$ 297.00
118	683609861557	Beauty Creations Keep Me Blushing Blush And Highlight - 24/7	CHINA	BC0624	3304990000	144	\$ 3.21	\$ 462.00
119	683609861564	Beauty Creations Keep Me Blushing Blush And Highlight - 4Ever	CHINA	BC0624	3304990000	576	\$ 3.21	\$ 1,848.00
120	683609861571	Beauty Creations Keep Me Blushing Blush And Highlight - @Night	CHINA	BC0625	3304990000	144	\$ 3.21	\$ 462.00
121	683609862103	Beauty Creations Lip Oil & Lip Scrubs Duo-Sweet	CHINA	BC0924	3304100000	648	\$ 2.29	\$ 1,485.00
122	683609862110	Beauty Creations Lip Oil & Lip Scrubs Duo-Watermelon	CHINA	BC0924	3304100000	540	\$ 2.29	\$ 1,237.50
123	683609862219	Beauty Creations Blush Hush - Timid Baby	CHINA	BC0225	3304990000	432	\$ 1.60	\$ 693.00
124	683609862226	Beauty Creations Blush Hush - My Favorite	CHINA	BC0825	3304990000	432	\$ 1.60	\$ 693.00
125	683609862240	Beauty Creations Blush Hush - Sinful Night	CHINA	BC2348	3304990000	576	\$ 1.60	\$ 924.00
126	683609862264	Beauty Creations Blush Hush - She's It	CHINA	BC0225	3304990000	432	\$ 1.60	\$ 693.00
127	683609862400	Beauty Creations Blush Hush - Mood	CHINA	BC0825	3304990000	360	\$ 1.60	\$ 577.50
128	683609862424	Beauty Creations Blush Hush - Vibin' With U	CHINA	BC0825	3304990000	360	\$ 1.60	\$ 577.50
129	683609862653	Beauty Creations Sunless & Sunkissed Bronzer - Hot Mama	CHINA	BC0624	3304990000	144	\$ 1.60	\$ 231.00
130	683609862660	Beauty Creations Sunless & Sunkissed Bronzer - Mojave Desert	CHINA	BC0001	3304990000	288	\$ 1.60	\$ 462.00
131	683609862707	Beauty Creations Sunless & Sunkissed Bronzer - Sunny Hunny	CHINA	BC0424	3304990000	432	\$ 1.60	\$ 693.00
132	683609862714	Beauty Creations Sunless & Sunkissed Bronzer - Down To Hearth	CHINA	BC0424	3304990000	432	\$ 1.60	\$ 693.00
133	683609866583	Beauty Creations Body Glow Oil - Gold	CHINA	BC1025	3304990000	2112	\$ 2.29	\$ 4,840.00
134	683609866590	Beauty Creations Body Glow Oil - Bronze	CHINA	BC0725	3304990000	192	\$ 2.29	\$ 440.00
135	683609866675	Beauty Creations Bye Filter Loose Setting Powder - Butternut Babe	CHINA	BC0925	3304910000	288	\$ 2.29	\$ 660.00
136	683609867016	Beauty Creations Lip Duo Set - Can You Wait	CHINA	BC0624	3304100000	576	\$ 2.75	\$ 1,584.00
137	683609867030	Beauty Creations Lip Duo Set - She'S Late	CHINA	BC0624	3304100000	432	\$ 2.75	\$ 1,188.00
138	683609868686	Beauty Creations Nude X Mini Shadow Palette - Unseen	CHINA	7G92	3304200000	96	\$ 2.75	\$ 264.00
139	683609868693	Beauty Creations Nude X Mini Shadow Palette - My Attractive	CHINA	7FG05	3304200000	96	\$ 2.75	\$ 264.00
140	683609868709	Beauty Creations Nude X Mini Shadow Palette - Desire	CHINA	BC0325	3304200000	96	\$ 2.75	\$ 264.00

Commercial INVOICE

Exporter: BeBella, Inc.dba BeautyCreations 12521 Los Nietos Rd. Santa Fe Springs CA 90670 (562) 842 3760 Consignee: WSM GLOBAL FZE S101230005 Jebel Ali Freezone Dubai	Invoice No.: 39416 Invoice Date: 16-Jan-2026
Ref No. Notify Party: 39416-39417 WSM GLOBAL FZE S101230005	Country of Origin of Goods: China, Korea Country of Destination: Dubai, UAE
Term of Delivery and Payment: FOB - 10 days from receiving the documents	

Sr	Barcode	Description	Country of Origin	Batch code	HS Code	Total Quantity	UNIT PRICE (USD)	Total (USD)
141	683609868822	Beauty Creations Nude X Lipliner - Stay The Night	CHINA	BC0625	3304100000	288	\$ 1.15	\$ 330.00
142	683609868839	Beauty Creations Nude X Lipliner - Impulsive	CHINA	BC0625	3304100000	432	\$ 1.15	\$ 495.00
143	683609868846	Beauty Creations Nude X Lipliner - Call Me Yours	CHINA	BC1224	3304100000	288	\$ 1.15	\$ 330.00
144	683609868853	Beauty Creations Nude X Lipliner - Misbehaved	CHINA	BC1224	3304100000	288	\$ 1.15	\$ 330.00
145	683639852432	BC DISPLAY EYEBROW TAME CLEAR SETTING GEL	CHINA	BC0724	3304200000	420	\$ 0.92	\$ 385.00
146	689358352216	Beauty Creations Lip Treatment & Tint "Berry Berry"	CHINA	BC0725	3304100000	144	\$ 1.60	\$ 231.00
147	689358352223	Beauty Creations Lip Treatment & Tint "So Vanilla"	CHINA	BC0725	3304100000	720	\$ 1.60	\$ 1,155.00
148	689358353985	BC- WHAT'S YOUR AVAILABILIPPY? CAN YOU WAIT	CHINA	BC0624	3304100000	144	\$ 2.75	\$ 396.00
149	689358359642	Beauty Creations Blush Stick "Fuchsia Thoughts"	CHINA	BC0824	3304990000	504	\$ 1.83	\$ 924.00
150	689358361492	Beauty Creations Pretty Pressed Setting Powder - Sheer Perfection	CHINA	BC0824	3304910000	72	\$ 2.29	\$ 165.00
151	689358361577	Beauty Creations Overreachiver Precision Liquid Liner Black	CHINA	BC0924	3304200000	552	\$ 0.92	\$ 506.00
152	689358361652	Beauty Creations Blush Hush - That Girl	CHINA	BC0225	3304990000	360	\$ 1.60	\$ 577.50
153	689358361669	Beauty Creations Blush Hush - Spoil Me	CHINA	BC0225	3304990000	432	\$ 1.60	\$ 693.00
154	689358362727	Beauty Creations Overreachiver Precision Liquid Liner White	CHINA	BC0924	3304200000	552	\$ 0.92	\$ 506.00
155	689358362772	Beauty Creations Overreachiver Precision Liquid Liner Brown	CHINA	BC0924	3304200000	828	\$ 0.92	\$ 759.00
156	689358363755	Beauty Creations Liquid Blush "Desert Rose"	CHINA	BC0824	3304990000	720	\$ 1.83	\$ 1,320.00
157	689358363762	Beauty Creations Liquid Blush "Dusty Mauve"	CHINA	BC1025	3304990000	432	\$ 1.97	\$ 849.46
158	689358363793	Beauty Creations Liquid Blush "OK Coral"	CHINA	BC1025	3304990000	864	\$ 2.00	\$ 1,723.97
159	689358364158	Beauty Creations DUET Mini Snap Palette "Rouge Romance"	CHINA	BC0824	3304200000	144	\$ 2.29	\$ 330.00
160	689358364172	Beauty Creations DUET Mini Snap Palette "Feeling Mauvey"	CHINA	BC0824	3304200000	360	\$ 2.99	\$ 1,077.00
161	689358364196	Beauty Creations DUET Mini Snap Palette "Nude Neutrals"	CHINA	BC0824	3304200000	288	\$ 3.85	\$ 1,108.80
162	689358365087	Beauty Creations Tinted Luxe Lip Oil "No Shade"	CHINA	BC1224	3304100000	72	\$ 1.38	\$ 99.00
163	689358370517	Beauty Creations Contour Stick "Cocoa"	CHINA	BC0824	3304990000	216	\$ 1.83	\$ 396.00
164	689358371095	Beauty Creations Lip Treatment & Tint "Sweet Fresa"	CHINA	BC0725	3304100000	792	\$ 1.60	\$ 1,270.50
165	810182141435	BEAUTY CREATIONS KISS ME LIP TINT "BETTER IN PINK"	CHINA	BC0925	3304100000	360	\$ 1.60	\$ 577.50
166	810182141442	BEAUTY CREATIONS KISS ME LIP TINT "TERRACOTTA TEASE"	CHINA	BC0925	3304100000	288	\$ 1.60	\$ 462.00
167	810182141459	BEAUTY CREATIONS KISS ME LIP TINT "CORALLY HOT"	CHINA	BC0925	3304100000	360	\$ 1.60	\$ 577.50
168	810182141473	BEAUTY CREATIONS KISS ME LIP TINT "TENDER ROSE"	CHINA	BC0925	3304100000	432	\$ 1.60	\$ 693.00
169	810182141480	BEAUTY CREATIONS KISS ME LIP TINT "MAGENTA MOVES"	CHINA	BC0925	3304100000	288	\$ 1.60	\$ 462.00
170	810182141497	BEAUTY CREATIONS KISS ME LIP TINT "BEARLY BROWN"	CHINA	BC0925	3304100000	288	\$ 1.60	\$ 462.00
171	810182141503	BEAUTY CREATIONS KISS ME LIP TINT "WINE O'CLOK"	CHINA	BC0925	3304100000	288	\$ 1.60	\$ 462.00
TOTAL QUANTITY						65,784	GRAND TOTAL	\$ 105,964.72

This invoice is for customs purposes only.

Weight GK : 3917.22

Pallets : 10